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1. 1856 ¥ HIHET FIo41 =1 s v A g 7

(1) wE foem

(2) T SAEET 96

(3)  favarn wafEEes s

(4) e

What was incorporated in the Act of 1856 7

{1} TFemale Education

(2)  Abolition of slave trade

(3}  Permission for the widows to remarry

[4)  Abolition of Sati

2. e S faumiE S s
(a) T fnEten s TEEE TEREA W WEa Frskie S v e,
(b} B e wEEEN S S A A faton fren e o T T
wafd T
(1} %= (a) 2 = k)
(B} @AM (#) (a3 (b) 2
Which one of the following two statements is incorrect 7

{a}) In Punjab. the Akali agitation of the Sikhs sought o remove corrupl Mahants from
their Gurudwaras.

ik} The movement got closely identified with the non - cooperation movement and the
British dad not support it.

Answer options :
(1} Omly () {2} Only (b)
(3} MNeither (a) nor (b} {4)  Both (a) and (b)
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3. et smlud sl R e T gt sy wia ?
(o) A= ATl |8AG sieerEE s g faamn freavam sl o
{b) 1882 i sabmEE AgE W | Uleal T aien e gueEn .
(c) 19=0 EEEn A g sermEiy dive @,
(dy 1911 e N F S A aw e fads e
TG W
{1 b (7)) (3) (bl d)  (4)  EIRE A
Which of the (ollowing statements is/are incorreet 7

(a)  Implementation of Wood's Despateh of 1854 had failed 1o extend education to the
Tovweer classies,

(b} Alahatma Fhule and Pandita Ramabar were witnesses to the Edocation Commission
of 1882

{t]  Education til the end of the 19" century, was confined to the middle dass,

(dy Gk Gokhale introduced Pligher Education Bill in 1911,

Answer ophions :

(1 (2 {d) {31 (b and {d) (4)  none of the above
4, @ frroEET @R g TR R e i

(al M EFEATE T TRIPRR T, A e i TER S i e =

(by TR A A g S & R e e atieE R wEm e srem s
AV Hew AT,

gt 37T :
(1) @ (a) (2) a3 (b)
(3) A fa) WA () (4) A () 7 (b)

Which one of the follswing two statements aboul the Sall Law is incorrect ?

{a]  According to this law the state had a menopoly, though only in the manufacture
and ot m the sale of salt.

() Mahatma Gandhi and the others thought that it was sinful to tax salt since it is such
an essential item of our food,

Answer options :
(1} Omly (a) {2} Only (k)
(3} Meither (2) nor (b) (4} Both {a) and (b)

o] WINETE 700/ SPACE FOR ROUGH WORK
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5 H(4

fafem w8 FrEmER T2 WEAEN §03 Ya9E Sl s
(a)  THTETINT g Wl . 0T AR WAER e fe Al i W T,
fby Tt afiredt e TSt famnt wonfaa @ 6 anfin wain & fawn sivew smomed

o
(c) NI WaE A O S
Efdt FHT
(2 i 2) b (3 (&) {c) (4 {a) (b). )

Tha British peavor did net estead the permanent settlement to the other regions of India

because

(@ Under tke permaient sattlement, the colomal state could not clatm any share of the
enhanced ancome

by The British officials swere influenced by the ideas of David Richardo and wanted his
ideas to e put b praciise

) The permanent setlieinent system was besetted with many inadequacies.

Answer options ;

1y fa). (b (M (oo (3 fal (o) 4y fah (b, (o)

TR AT T weenl T Giga awd
(2)  EETE T AT @

(b} T A v e

{c)  wers TETE W HET Arm,

(d) T3 T T

it
(11 fa) o (o) e (2% o) {Bh (¢} R
(3 (b o) () (41 qa; sl (b =

Which of the following were the muin pees isions of the Locknow faee 7

(@) Teask for the self pos crrment for the colony.

b} To dermand separats oostitueney fore the Muslis.

{c}  To bring about reconcibation bebween the extremists and the moderates,
(dr  To start the Swadeshi Movement

Answer nplinns :

(1Y (&) and {il) onlv 2y (a) ¢h) () only

3 bk o) () ok 4} {a) and (B} only

P.T.O.
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7. S feawin g4 GEie geatEt SEmEn T w0 9 9 3w iy

(a) T WG A (b) @A
(c) TR T (d) Frwdd swa
e i e G

(1 (e) (dy fa) (b) (2} (d) (c) (ah (b0 (3] (A) (B (ch () (4 (a) (e} (). (b

Arrange the following events associated with Lokmanya Tilak, in chronological order
and choose the right oplion.

(a}  Surat Congress Session (b)  Lucknow Pact
{c}) Ganapati Festival id}  Shivjayanti Celebrations
Answer options :

(1) (e} {d) da), (®) (2)  (d)fe) (@) (B) (3) (&) (bR (2) (d} (4] (&) (<) (d). (B

8. EEEiE wE faer g e ?
(a) AT TAFE ¥ fawed ud 9 e wEE S T,
(b) T gEiT R TSR 50 S W e O E A S
{c) Had E worEd Sl F#E E s A,
(dy TER TaEE w5 EEwET i T qEe 14 9 g 21 AR
woigt I
(1) (@& ) (2 (@) ) A (B (@I @) @) (b ) ()
Which of the following statements is/are correct 7

fa}  Swami Dayanand was a fervent critic of Christianity and [slam.

(b} M.G. Ranade edited Marathi translation of nearly 53 lectures which Davanand
delivered in Bombay.

¢} Lokhitwadi was [or sometime president of the Bembay Arya Samaj,

{d) Swami Dayanand advocated that the natural age for marriage was 14 for the girly
and 21 for the boys.

Answer options :

{1y fa) and {c) {2y fap (d)and (c} (3} (@) and [d) () fah b o) (d)

wHed] FIMETE 9O/ SPACE FOR ROUGH WORK



9, @@ A st Frm g e

ja} T 1929 98 T e S A S 4 e w6 w0 e 5 18 G w0
AT YR A R SR T

(] HA 1801 T TR T ®EEE aEeE 7 Al feawme ve e

Tt w=
(1) e (o) T T {2y = (b) A
(31 F @) A (b () fa) T (b S

Which one of the fallowing two statements is correct ?

(a)  The Sharda Act passed m 1929 did not allow a girl below 14 and a boy below 18 1o
et married.

(B The Act passed in 1891 allowed inter - caste and inter - comemunal marriages.
Answer options :

(1) Only (a} is correct (2] Omlv {b) is correct

(3 Meither (a) nor (b} is correct {4)  Both {3) and (b) are correct

10, ¥ gfem st urEEls S walese J gy e o FEE S oawes e
o G N T 10 A el o O e 1 B 1

(1) @S T (2 g fm
(3 =g wifaE 4w e

He was not happy only with the expansion of the East India Company’s rule in India. He
wanted to consolidate the Company’s rule in India. He is known as the Maker of Modern
India. Who was he ?

{11 Lord Wellesley {2)  Lord Ripon

(3] Lord Cornwallis {4y  Lord Dalhousie

el HIWHETE A0 ) SPACE FOR ROUGH WORK
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12.

5 A

YEle 4 Fuarist SR, S dm el aea ?

(a) U HHER TEEmHAT WA AR AT T 1 g wiaas i d i
T TR T,

(b)  Z A W WA AE WA WG & Pkl T e T mrsite aeEn

T,
it 39

(1) %@ () == (b
(3 TiapT A {4 {a)d (b)

Which of the following two statements is/are correct ?

{a}  Atthe end of a powerful movernent peasants of Pratapgarh themselves managed to
stop illegal eviction of tenants however the eredit was given to Mahatma Gandhi,

(b} At other Hmes, using Gandhiji’s name tribals and peasants undertook actions that
did not conform o Gandhian ideals,

Answer options :
(1} Only {a) (2]  Only (k)
(3} Netther {a) nor {b) {4) Both {a) and (b}

TR F I g e wwaEi VR TEEEmE Fe i e ?
{a) TS WA | YEE=e FArE MRS ST e,

(b AT 2T T ST e AEd W

(¢} AT AT A s e e T,

() A T T apsn fisE,

Tt T ;

(M @afe @ @amb 3 () () ()
Which of the following was not the effect of the movement for national education on
Inchan politics 7

{a} It roused national pride and a realization of past achievernents,

(b} Tt helped the vernacular languages to grow.

{c} It gave impetus to scientific and industrial education.

{d) It gave impetus to women's education,

Answer options :

(1) {a} and (o) (2)  (c) and {b) # (d ) (b)

el HMEE 0/ SPACE FOR ROUGH WORK
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13, (A} = (B) faurt @ 2w 9y i e
(A Fferen AR e g e g e o,
(B) v TeETT mrEEE TynEen i g e, AngE Siem i g
Wiz A gu s,
(1) (A} SR (1) T g {2) (A SE (B) A A
(3 (A)IE F (B TR gE AR (4)  (A) w00 (B) SRR i A
Read the statements (A) anc (B) and select the right answer option.

(A)  The railways in India, during the British period were not built from the government
funds,

(B} The railways in [ndia were built with the funds raised privately, the English people
thereby got the opportunity to invest their capital in India.,

(1) (A)is false (B) is true (2) (A is troe (B) is false
{31 (A} is false (B} 15 false too {4)  Both (A} and (B} are true

14, T2 FiEiEEen gevide S s ey o ?
(a) TN STEER EET .
(by it s s R,
(€) =t e e g antie,
(d) T S e e T

Tt 3T
(1) (a) W™ () (2) (2} (b, () T
(3) (b, (c), () (4)  fe) @ (d)

Which statements are true in connection with Lord Cornwallis 7
(2] Cleansing of adeinistration.

() Muodernisation of police system.

(e} Established Police Stations at every 20 miles.

[d}  Appointed Indians on higher posts.

Answer aptions :

(1} {a) and (b only (2)  fa) (b), (c) only

(3p (bl (c) {d) only 4} ic) and (d} only

el HIAE, 700 / SPACE FOR ROUGH WORK
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15, yEEEEl v T T R ge T e |
() amaiER Toee A e v wErEn SEmiiem ST WO W S0 e AT
by 125 3 gaaar s i e 91 T3 IR
(c} Tegmnnd Teg = qmessd & 69 et e R,

(d)y  FEFME R g7 A

it I

(1) fa) HW (b (2) (o) S ()
(3)  fc) v (4) =iE W

Which of the following staternents are attributed to Sir Sayyed Ahemad Khan ?

in)  Unless the Muslims accept modern education and the English language, it is difficult
Eow e Muslims Lo make progress,

() Hindus and Muslims are the two eyes of the bride - India.

(©)  Hindus and Muslims are the two separate nations in Hindustan,

fd}  Muslins should stay away [rom the Indian MNational Congress,

Answer oplions :

(1) (a) and (b (2 fe and (d)

i3} only o) (1) Al of the above

16, fafeidl g5 %3 meae e d2via aets s s s s ?
() TESTUrAW UF T WEA] AR S,
ib) e EmE v e sfes it ferww
fe) e e gialE T e,
{y  gftes v Syt o givdEoa e S L

et 3
(1) {a) (b} () =R {2) bk {c), (d)
(3) f{a) (b (A i) () T

Which of the following statements are true with reference to Western education introduced
by the British 7

i) It mereased the sense of nativnalism ameng the Indians.

() Emglish was accepted as the language of the entire country.

{r) It ereated an edocated middle class.

id}  Enghsh language was not accepted by all the educated people in the country.
Answer options :

(1Y {a) (bh i) only {2y (b o) {d) only

{3} @, (1 only (4} (o) (dy only

el FETHTE 00/ SPACT, FOR ROUGH WORK
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17, 1907 wiet SR gregarEis oitesa FEU aem fmn g e fEm Ew wEsae
(1) @ 5 $5 Huem
(1) ¥ 9 wEE AEe
(3) A E TR S|
() I S
Which of the following Tri - colour flags was hoisted by Smt. Madam Kama at the World
Communist Summit in 1907 ?
(1} The one having stars anilt s Lons
(2} The one having a wheel and a Lotus
{3} The one having stars and a wheel
{4} The one having a wheel

18, =l WAt Tl S e e s faania g w1
(1) e Fo (2) g wrsi ol
{3} R (4) THEAE §B
In the company of Bhaurao Patil had come under the influence of the idealogy
of Satvashodhak Samaj.
(1} Mdahatma Fhule (2)  WVitthal Ramp Shinde
(3] Shahu Maharaj (41 Yashwantrao Phule

19, 19 WHTH YU T T T
(1) wega, wifew, ol shem, 0, €S, %9 8 9 TR,
(2) = figzen, v, favenfe 3 gemm, aam e
(%) s, frEr, wea, st a e w fe,
(4) A EF U TH OF RS uE ST o gE deea al,
it WU fAeT T Ay 7
The pioneger of the reform movemenis Raja Rammohan Roy
(1} Knew Sanskrit, Arabic, Persian, English, Greek, Hebrew, French and Latin,
2y Stadied Hinduism, Islam, Christianity and [udaiso.
(3} Wrote in Bengali, Hindi, Sanskrit, Persian and English

(4} Started two newspapets one in Bengali and the other in Sanskeit,
Which one of the above four statements is incorrect 7

THoedT HIAHARE AT / SPACE FOR ROUGH WORK
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20.

21.

-

i A AR S s i

(a) HamE dr IZd e TR FUEmE A vEMA 5500 2 7 A IS ST
bl

(b))  WETe G SR A HETURI (R 4 s ter O §8.

it sy

(1) &8 ) (2) @@ ()

(3 T (41 {a) 7Tl Al

Which of the {ollowing two stafoments oo incorrect |

(a) Ambabai whe pickeied foreinn coth and Bgaee Gaogs o Udupl was acteally from
Mabaraslibea.

by Mahatna Gandbi simce very begiming swes seny much in favowr of women's
prartivipation m Salt Salyageala,

Answoer oplions :

(1} Oy ra) 27 Vv e

(3} Nethuo fa) i £b) (PR L B S L

ST S SR I A i e

fay T REEA Gp EEar Y
by wsie (i) WENEL 43
[y o [l TE U
() Fi gEA fivi e

atdt == -
fal i jel g}
{1y g quy iy i)
2 ) () i
{3) i) B [ (ivd
L 1TV I ) S 1
Mlatehy the Tollotring atad sedect Hho comeel s et

{a}  Warnen Hasting: (it DTt e R e
[ Toed Cernneaile p] Penanend o by
{h Thonmeas Mg { 1K) v atien i s

1|.1:! (-1 | T el T L rEnTpa

Answee oo

(a1 1) e) jdi
{17 Awv) qmj o qdik o L)
{21 B v (i
{20 ¢ gy (v
{3t} gisd i (i

SR S = L R T e i Y . e B 55 [ I e S S ol L s e % R

ol HIMAEL A SUAUE BUI RO T
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22, ETEEET Fivd HE SRErERE ST

(1) @zt fawsd dmEd {2y v el S

(3) arfRa woat e (4) it firger seradt

Which of the following institutions did not work in Maharashtra ?

1)  London Missionary Society (2} Scottish Missionary Society
(3)  American Marathi Mission {4} Portuguese Missicnary Society

23. 9 % 1925 =0 FERHT w2E W HR Filww e Ted 7

(a) it s @ T e

(b) AR f=ie 3 i fEn

(€] SR e wrd | e e

idy wmafdn 3 S2FeE 3q

gafdt 39T

() @afp)  (2) (o FE (3) (dywE 4)  adedst sl

Wh from amongst the following revolutionaries did not participate in Kakon conspiracy

of 9 August 1925 7

ta)  Chandrashekhar Azad and Rajendranath Lahiri

(b)  Bamprasad Bismilla and Roshan Singh

(c) Ashkfak Ulla Khan and Yogesh Chatarji

(dy Bhagat Singh and Batukeshwar Dalta

Answer options :

(1) (a) and (b} {2} (c) only (30 (dyonly {4} MNone of the above
24, TE@ R TaurEidEt Fio@ e a7

(a) iR dwwaa v e @ 1920 =0 Sew s T

(by 1930 50 S¥TERTle S1 Wi e B A TR aE W 9w e aiw afam

= T,
T T
(1) s (a) (2) %= (b)
(3 F@aal () (a) § (b) EE

Which one of the following two statements i incorcect ?

fa)  The revolutionary nationalist Bhagat Singh was active during 1920s,

(b} Two important developments of the 19305 were the formation of the Rashiriva
Swayamsevak Sangh and the Communist Parly of India

Answer options :

(1} Only (a) (2} Only (b)

(&) Meither (a) nor (h) {4}  Both (a) and (b}

el HIHWTE @O/ SPACE FOR ROUGH WORK
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25. g woA P e wey FEL
(1)  wafoE et {2) =i fae
(3) == fomgmmi (4) =i
The Raleigh Commission of Lord Curzon’s tenure was associated with
(17 Primary Education {2) Secondary Education
(3} Hhgher Education 4y Farmme
6. e v e S s wm

(1) B2 IOyl STEaw 1882
(2) HEH W WA 1854
(31 1904 = famndta s=mm
(4) TE fwican v 1835
_ 18 known as the Magna Carta” of Modern Indian Education.
{1) Report of Hunter Commission 1582
(2} Wood's despatch 1854
{3 University Act 1904
{4} Lord Macaulay's proposal 1835

27. FIFUE TSRS e wIO TET AE e Al e

{a) T FH {b) S T@

fc}p AR T (dy T A

At =

(1) {a) 0T (k) oo (2)  (a) =M () T
G) () wH (4 (d) TR

Which dance ferm is performed in Konkan during the Shimga festival ?
ia)  Gaja Mritya by Kath Khel

(£} Tarpi Nritya id) MNakta Mach

Answer options :

(1) - (a) and (b} only (2} (a) and (o only
i3 ichonly {4} {d) only

el THNTHE A0 [ SPACE FOR ROUGH WORK
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28, TES SeFErd] FOH B0 gETaTe TG 3

{a)  FIWA FE by = 3.
(c) e (d)
TR e
(1} {a) 20 (1) = {2) () (o), (o) w0
(3) (o) W () E (9} (o), (c), () T
Which news papers propagated the Homerule movement 7
[a} Common Will (k) Mew India
(¢} Harifan {d) Swarajya
Answer aptions :
{11 [a) and (I only {2} (@) (b), (<) only
(3} {a) and {d] only {4)  (b), (), (d) only
29, 'E-yE g T own fEmaie aemEne Wl A wEe,
(1} s i (2) vifeen T
(3} v (4) T HEn
_ raised her voice against male - female discrimination in her book ‘Stri - Purush
Tulana’.
(1} Tarabai Shinde (2) Pandita Ramabai
(31 Rukhmabai {4)  Amnandibai Joshi

30, MEEEIE FE UG S A S S GErrE A T T S SR
wEeR] FeanEs £m 7
(1} =raeme A (2 T dfem
{(3)  TFE favame 4)  WF ORI

Who from amongst the following ts known as a "harbinger of the age of capitalism’ and as
a founder of economic nationalism in Maharashtra ¥

{1}  Balshastri Jambhekar {2)  Vishnushasti Pandit
% Ramkrishna Vishwanath 4} Bhao Mahajan

HOA HTATATE AT J SPACE FOR ROUGH WORK
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31, W WA YR e e e g e el e e et 7
{a) WEFTE Y {b) FEETa Y
{c) TEITTRR TR (d) TerdamE TEaE
i T
1) @) @) @M @) @aAfhy ) () )
Who from amongst the following leaders of the Non - Brahmin Movement were sentenced
by the court for writing the book ‘Deshache Dushman’ ?
(a) Bhaskarrao Jadhav (b}  Keshavrao Jedhe
(€} FPrabhedhankar Thakre () Dinkarrae Jawalkar
Answer options :
(1} (@) and {c) 2y (b and (d) (3 () and (k) iy {d) and {a)
32, 1975 =N HEA AW Few wels £ i e i
(1) 9T HEm, T T (2) TS Sed, Sie wAlEE
(3) eingy, ¥ AR AR (4) HEEE 2u, A G
-Who from amongst the following leaders went underground during the internal emergency
of 1975 ?
(1) Ashok Mehata, Ray Marayan (2} Manap Deshmukh, George Fernandis
(3} Chandrashekbar, KR Malkani  (4) Morarji Desai, Nanaji Deshmuokh
33, WS AGIAAEH O, e A ST R W) W S S

o waE FW qEE T e,

Vet gAE o ERIeE] @ikl e AR e SR e wEaEE dad
AT T TEA Saw #1 A A W, 7 WS WH O 5NY g FW F A0 T A
A e TR

(1) dham s (2) wEE
(3 TEH, Wi [y foge Tl R

After a long debate certain privileges were granted to the members of the lowest castes.
In this respect who had then said,

“We were suppressed for thousands of years. You engaged us in your service to serve
vour own ends and suppressed us fo such an extent that neither our minds nor our bodies
and nor even our hearts work nor are we able to march forward”,

{1} BR. Ambedkar (2) MK Gandhi

(3}  HJ]. Khandekar (4} Vitthal Hamiji Shinde

Freel HIMHES FT [/ SPACE FOR ROUGH WORK



A

34.

17 HM

fafen & Fraos MR 39, 1774 A9 TTH el I g R

{a) TG FE WA g FOEE A,

(b} FrlarEen anfd el M ST

[c) HIEE HEwT S S

(d) FHrEN SERRET § TRIRAVETEL ST S

il TR ST T s SrE we fEe o d@t s

(1) @3 @ ®mAEE (@ @G @) (d) )
British Company passed ‘Regulating act’ in 1774, it's main reasons were :
(a} To strengthen company administrabon in India.

(k) To check economical prosperity of the employees,

() To tncrease the authority of the board of directors.

{dy To control the transactions and administration of the company.

Which one of the following options is correct 7
(1} [(a) and () {2} (b) and {d) (3 () and (b) 4] (d} and (a)

dterieR! T T ] SeET A e

(1) i Had faarders gers B

(2) i e T g

(3} W, A Al ST SIS HhEY ey s e,

(4) =S wahdl A

Which one of the following things is not associated with Justice Chandavarkar 7
(1} He was the Vice - Chancellor of the University of Bombay,

(2)  He modernized the Prarthana Samaj.

(31 The leadership of the National Social Conference passed on to him after the death of
Justice M.G. Ranade.

(4] Mone of the above

36.

Fedl HINTATE 9 / SPACE FOR ROUGH WORK

1908 1) Femwim o onish v wwmmrt fen . wret SieEvam s

(1) sl I givers g TR e,

(2) T R R YA g e

(3) o weana 8 R i mEa e

{4) =, TR TR g St 1 ST waiE e,

Tilak was sentenced with six years rigorous imprisonment in 1908 for

(1} Defending the killing of the English couple,

(2} Starting the newspapers - Kesri and Maratha

(3} Supporting Lala Lajpat Rai and Bipinchandra Pal

(4] Supporting the programme of Swaraj, Swadeshi and boyeott of foreign goods.

P.T.O.
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37, A we-femw €3 arailfes g% &8, &0 Adie Ao s Pearders e e g an, 2
el | w9 fEE e, F rE aie seaad 1. A s o sl

1) 3=z Tom W A L = 1
(3) e TR @t (4) =l TEN

He started Al - Hilal, a weekly in Urdu, he had his education from Al - Azar University of
Cairo, he was a scholar of Arabic and Persian, he was also a President of the Congress.

Who was he T
(1) Abdul Kalam Azad {2} Sir Syed Ahlmad Khan
13 Maulana Mohammad Al (4) Dr Mazir Ahmad
38, U WV, HeEiA deos mEe W o srase foa g afee 9 T =
fim e wE T
(1) ieoE e (2) wERE e
(3)  Fog it fidn (4) et e

It was in the Scoltish Mission's Iligh School in Poona met Sadashiv Ballal
Govande, a Brahmin, who remained his close friend throughowt his life.

(1) Bhimrao Ambedkar {2y Jotirao Phule

{3 Witthal Ramj Shinde {4} Lahup Salve

39, ‘HEies WA 9@ 9 faanray o (S Tma @i T S sea TR i it we
Mg weEEren 0 A fram e we ee e e, ¥ R
1y fags e g {2y T
(3} il il AT 4y i Ei Sy

He did not believe in the principle of ‘Go back o Vedas”. According 1o him the Aryans
were foreigners to India. Yet he agreed to give protection to Dayananda Saraswati's
procession in Poona. Wha was he 7

(1) Vitthal Ramiji Shinde (2} Iyotiba Phule
{3) Gopal Ganesh Agarkar {4}  Gopal Hari Deshmukh

O RIGTE A SPACE FOR ROUGH WORK
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40, TR EEdd WA 6 Wi T Ee e 30 arEr 1948 @ wEem it e

T TS TETE AT S FEm @ ween mten fify gt eeen o wEere
STTATET WRAT TR T HEArETE S gE wur we-
Sy AT YR S A i vy Aun e A

1y fza TEmTE I {2} EL #aE s
(3) TEN SovdE 9E {4y TN HEE TERL W

Less than six months after independence the nation was in deep mourning. On 30 January
1948 mahatma Gandhi was assassinated h}f a fanmatic, Mathuram Godse, because he
disagreed with Gandhiji's conviction that Hindus and Muslims should live together in
harmony, Whao then said on that evening 7

“The light nas gone out of our lives and there is darkness every where”,

(1} Pandit Jawaharlal Mehru (2) Dr BR. Ambedkar
(3} Sardar Vallabhbhai Patel {4) Khan Abdul Gaffar Khan
41, @ Er Pt wn e w9

" o

WA e T 1947 Wl e S S earea WU A Hes g

(a) TRV QAT AR AT f0 B AT (aTa 8 S W

(b) TET IS WD TR NS weA 0, WeaTE 50 UEed G, W TR °1 T
sfiuemar @it - m yREE EEE s T S,

a3

(1) == faum (a) 93 ST

(2) s fawm (b) 9 ek

(3) 7 Taum (a) 4T 7 by

(4y FE A (a) = () T

Which one of the following two statements is correct 7

When India became independent in August 1947 it faced a series of great challenges :

(a)  Asaresult of partition § million refugees had come into the country from Pakistan
who had to be found homes and jobs.

(b)  Then there was the problem of the princely states almost 50 of Hient each ruled by a
Mabaraja or 4 nawab, each of whom had to be persuaded to join the new nation.

Answer options :

{11 Only statement (a) is correct

(2} Only staternent (b) is correct

{3)  Meither staternent (a) nor (b) 15 carrect
{4)  Both the statements are correct

HoAl HEWEE WO/ SPACE FOR ROUGH WORK
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T 99T Hi0= Wi
{a) TP TERIEET TEETE 30 Ty Hen e,
(b) Tl 2 AT R A e et e,

Fifes 2t farnitt HIvR I amt
(1) a= (a) (2) R (b
(3 7 )F(b) (4) @ (a) A (b)

The Karachi session of the congress :

{a) Passed an important resolution on Fundamental Rights.
{b}  Favoured nationalisation of certain industries.

Which one of the above two statements is incorrect 7

(1} Only (a) (2} Only (b)

{3} Meither {a) nor (b} (4) Bolh {a) and (h)

43,

44,

"] frdh e T ST HemE S E . Seuars SafaeeTe) o gv ge T
a4 i s w25 el 1919 Tt WTEE st S sk

(1) s e (2) =il teEn

(3 fermarmn {4) =Tl FEEE

“The growing generation will nol be satisfied with petitions efe. ... Satyagraha is the only
way, it seems to me, o stop terrorism™. To whom did Gandhiji write this in his letter
dated 25t February 1919 7

(1] Tawaharlal MNehra () Motilal Nehru

{31 IDinshaw Wacha {4) Swami Shraddhanand

Az - <ss GEAI TR FeE e i dwiE wom 0w feden 7
(1) w25 faemmEr @ w17

(2 = @ am g

(3) e faeedt

(4) witedsl s T

Which article did Lokmanya Tilak write in Kesni after the Montegue Chelmsfond Reforms
were declared ?

(1} Sarkarche Doke Thikanavar Aahe ka ?

{2}  |anab Dethi to bahut door hai !

(3 Chalo Dethi

(4) Mone of the above

Foedl HIWTHTE A0 / SPACE FOR ROUGH WORK
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W W g ufed s sy S i dE v gEetel Sowt 3l wifias )
() VT YHEE HEHA S,

(h) T W fawm e,

(e} BN e TaeaA 30

(dy AT e (e

ol 3w

(1) e @ @AM @) @b (4 (d) S ()
Which of the following abjectves were set for the Mational Congress by Womesh Chandea
Banerje, the First President of the Indian MNational Congress ?

(a)  To introduce reforms in India.

(b} Todevelop the feeling of nationalism,

(¢} To free the country.

{d} To develop unity among the Indians.

Answer options :

(T fa} and 1) {2) (b} and (d) (3} (c) and (b) (4} (ci and (a)

SPHERT e i YAt S 5 v favee i

(a) W T2 T SEenE 9, Hi T i T st @ w8 Aeea
i Frg T Wi s A fadhisan ARE e g,

(b) A TR YREE HL A S, Hidters Tee | fager ee v 6 12 et i g

fc)  TE=N 1922 w0 Te Aefie T, S A ey AT 5 i wE, P
T WO FE AL

e il Yt wion Faum ot o ?
gt 39T ;
() (a) @ (3) (o) (4)

After the withdrawal of the Non - cooperation movement, the conpress was divided into

bW Broups.

{2} Onegroup led by Vallabhbhai Patel, C. Rajagopalachari and Rajendra Prasad wanted
that the congress should take part in the elections and wreck the working of
legmislatures from wathin,

ity The group led by C.R. Das, Motilal Nehru and Vithalbhai Patel was against contesting
elections.

{c}  In 1922 the Congress session held at Patna and presided over by CR. Das rejected
the proposal for entering the legislatures,

Which one of the above three statements 15 correct 7

Answer oplions :

{1 (a) 2y (b Gy (e (4)  None

Hoed] FIWHTE AT / SPACE FOR ROUGH WORK
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22 A
HAH T2 FIOAEET 18 T 1823 71 o fad o fafen adiee wefam g wn averin
W S w et S e e g
(1) T TaslEs T T S A
(2) T TS A fverds faamann
(3) T TEHEEA T4 7 OeEE e T
(4] T T 79 A e EEE

On June 18, 1823, a petition, requesting to put an end to the practice of Sati was sent to
the British Parliament, Whe from amongst the following had signed it on bebalf of the
Indian paople ?

(1) Raja Rammehan Roy and Jagannath Shankar Shet
i2)  Raja Rammohan Koy and Ishwarchandra Vidyasagar
(3 EKaja Rammohan Roy and Mahadeo Govind Ranade
i4)  Eaja Rammohan Roy and William Bentinck

48.

I T SEaTET WS ST SYRTET § HiEm e s At e i e
Bl e e ) et e e e ot e ) e M e R ) AL | el | i T
ja) Tl SR

{by  WTETEE foeER

(=) fiE Hied TETEET

T I

(1) (a) 2) () @ (4) =e TR

Adter independence we laid more stress on development of heavy industries and on building
large dams. Mahatma Gandhi's follower Mira Ben however thought we should instead
have had emphasis on

(a)  Agriculture

(b} Primary education

(¢} Mamntaining natures balance

Answer aptions :

{1y {a} 2y (b) (3 (c) {4} Mone of the above

THoedl RIETES WO [ SPACE FOR ROUGH WORK
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T it Emne dty W i A Rl e e S S i e #R. wig o s
A F s B S e gee @, w0 aen 9 FEnEe Gt S gaaiae

(a) FHEIEE T FTETE YR T TS e,
(b} ATT EME FE A 9 ST asdie | i TEE EE 9 A,

(e} HHUTTET TEEE TR FE
(dy foom oe = a@fn Tomiess sfus yomme g ofafad e 5 i e

(1) @3 @2 A (B A @) (d) ()
According to lady Minto, the eredit for the Morley, Minto reforms goes only to Minto and
nol bo Morley. However Morley wanied fo introdoce comprehensive reforms is clear
from which of the fellowing statements of his correspondence ?

{a)  We should take steps towards introducing reforms for the common people.

(b} If we fail to do so, the demands would go on increasing and would become a

() Reforms should be introduced from the grass root level,

{d)  Maore Indian representatives should be appeinted on district local boards and
municipalities and see that they get more rights.

(1) {a) and (b) (2} fc) and {d) (3 (b) and ic) (4} {d) and (a)

A
449,
i o @ 7
AfR e w1 T,
Tt Iy
national cause.
Answer ophions :
5.

s St sfauyE Hon v Fvem Eiets fen W e a9

{a)  TEioe dem

(b) T AR

() WIE HEREE

(d) FEEH

wabdt =

(1) () &@ME) @2 @) @) @ A (@) () S ()
Who from amangst the following leaders contributed towards establishment of the Bombay
Presidency Association 7

fa) Phiroz Shah Mehta

(b)  Balshashtri Jambhekar

(c)  Bhaw Mahajan

i} Badreddin Taivabjee

Answer options :

(1} {a) and (b) {2)  {bjand {c) (3] [c) and (d) (4)  (d) and (a)

AT HITHTE T/ SPACE FOR ROUGH WORK
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24 A
LW 1875 = SRS See | a2 W A qEteniEi S (e v g6 7

fa) g by fer
fc] S EHEAT (dy T
et 39T

(1) @) (2 (b)) (3) y#m by (4) (o) T ()

Farmers Riots in 1673 known as the ”Deccan Riols” had spread in which of the following
districts 7

(@) Pune it} Mashik

) Ahmednagar d) Kothapur

Answer oplions ;

(1} {a) and (d) (2) (b} and ic) (3)  (d) and (&) (4] (c) and {a)

AT WA FAEE 9w w9 i A At =9 21 9 9 geed o6

WA SAiET aEe He e

JAEE FET 9 TAEdE RO a6ET S 29 ¥ ieEE - ge A 6,

(a)  THT FR W SAEOATE AAE] AR L

(b) T wewia Far =1 A wwfae S

(o} FrEwd i E afese TR emaE e e

(d) wfeE war afisn gAmeE FHen @ s W v s T f9eE 3 ween

TR UTH T
=ire = it o R e e s s e ?
(1)  FrowE (2} (23 (3 W) {4 (4

The revolutionary feature of the constitution of India was the adoption of universal adult
Franchise. All Tndians above the age of 21 were allowed 1o vote !

I other countries such as the United Kingdom and the United States, this vight had been
granted in slages.

{a)  First only men of property had the vole,

() Then men whe were educated were also added on.

{e)  Working class men got the vote only after a long struggle.

{d}  Finally after a bitter struggle of their own American and British women were granted

the vote
Which one of the above four statements is/are incorcect ?
(1) MNone (2} fa) and (k) (3] (b and (<) e

FeT WINTETE WA/ SPACE FOR ROUGH WORK
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(A} s (B) Faurd argm sau e v e

(A) AT TE Wi 9 Sl HEE e

(B) A FreEg A sl anten et seeen mlopen g wne avfem
nfed g,
it T

{1} (A} #0 (B) T 3R T (B), (A)¥ FILIET FA.

{2y (A) S (B) STET SR o (B), (A TR AR Al

(3) () TR R, (B) THE S

(4) (A)IF Ak, (B) duTe TF A

Fead the staternents (A) and (B) and choose the right answer option,

(A)  Bhaurao Patil had to leave the Jain student’s hostel.

() He had attended the inaugural funchon of scheduled caste student’s hostel.

Answer aptions !

(1) (A) and (B) are true and (B) explains [A).

(2} {A) and (B) are troe but {B) does not explain (A).

(31 (A)is true, (B) is false,

(4] (A} is false, (B) is false too.

54, TEED EOAETR S W 6 SRS WA Ay @ e

(1) i s 20w sl st i w1 ) A sl it afid e
EWAL A,

() T ZEEeTA HEEE A e frs W At ded) v e e,

(3) T fig-qfes twmer W e

) fafen Aty st am f

Which ane of the lollewing stalements aboul Sir Syed Ahemad Khan is incorrect ?

(1) He established Mohammadan Anglo Oriental College at Aligarh which later became
Aligarh Musiim University.

12} He founded the Translation Society which was later renamed as the Scientific Society.
(3} Tle emphasized on the unity between Hindus and Muslims,
(4} He sided with the Congress against the British rulers.

THoedl WA 90T [/ SPACE FOR ROUGH WORK
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26. A
T 1956 T4 it P aear o yadde el
sy e (EE o e A At am fastan fmem e fae,
i,
fa) Wi TE Tt 2 endl,
(b)  oiEHA Tne S s o,

(c) RSiETEnE T @ WER o A A it g ) T il Qe et
Licale

atte a et o favr s e
(1) &= {a) (2) T (b}
(3 EEH (o) (4)  FOHE THT

I 1956 the states of India were rearganised on the basis of language,

We did not impose Hindi on South India and allowed the a'eE;iBna[ Ianﬂuages the freedom
Lo Mourish.

However,
{a} Pakistan impoesed Urdue on East Pakistan,
{b}  Ceylon (5ri Lanka) imposed Sinhala on northern Sri Lanka.

{c}  lawaharlal Mehru and Sardar Fatel feared that linguistic states would threaten the
unity of India.

Which one of the above theee stabements is incorrect 7

(1) {a) only (2) (Byonly

(3 () only (4} Mone of these

THoel FHIATETE T / SPACE FOR ROUGH WORK
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56, % oo qEETEN Sen ArRRE AEEET e e

ja)}  HEA FEmA {iy weEw
{b) ST HEE 3 (i) =

(c] = gEadA {iii) =&t

fd) =TT Y (iv) FHH
L pides i

(a) (b} e} (d)
(1) (i) (@ () (i)
(2) (i) () (1 (i)
3y () i) (H) 1)
) () di (8 (i)

datch the names of the leaders with their code names.

(a) Sucheta Kriplani i)  Kadam
(Bt Aruna Asaf Al (i) Dadi
(€] Achyuetrao Patwardhan (i) Didi
(dy Baba Raghavdas {iv) Kusum

Answer oplions :

@@ (b} () (D)
() @) 6 v ()
@ i) v 6 @
(3 (v 6 @0
) ) G (@) [v)

57. 1915wl =i AR TR ey i e T 9 O e e S NEe
s AE D T L YEielE S v e ST e ?

{a) WA TR feien dWEE w

(b)) A HESEERE AHiE w19 i e g

() a2t e

TEiEr ST

(1) @ @2 mEaEfme  (3) @& E @) @), (b))
Alter his returmn from South Africa in 1915, Gandhi acquired the reputation of a man who
would take up local wrongs and manage o do something conerete about them, Which of
the following wrongs did he deal with successfully ?

(a) Champaran Indigo Cultivator's problems only

it} Ahemadabad Textile Waorker's problems only

(] Bardoli Peasant's problems only

Answer oplions

(1) (a) and (b) (2) (¥} and {c) (3)  (a) and (c) {4 all (a), (b) ()

AT THIEEED WO/ SPACE FOR ROUGH WORK
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a9,

28 A

VA WA T uren ey geil R stomare gde et gl oEuyn
ot dig s T e A

(1) FHel AR (2} den) dleEiEg
(3) wEEn RN (4) "0 SEEEEL

After India became republic there were protests all around asking for creation of states on
linguistic basis. Initially the strongest protests however came From -

(1) Kannada speaking people {2} Telogu speaking people

i3} Malayalam speaking people (4)  Marathi speaking people

war i gfzey) Few TEAMEAE T W0 HOE T, § 9 W w2

(1y =1 it aideeny, T wHiE g, S e, e, a s e <E

(2} ELE AW aEEy, MO T, W Ty, T, ey 9

(3) EELAN. AT, AN, O R g, S R i e 98,
(4) =7 s aniEea, TN dE, YA g g, S aum sl soery wE,

The First Mehra Cabinet of foarteen included five non - congressmen, who were these
five ?

(1) Dr. BR. Ambedkar, Shyama Prasad Mookeree, John Mathai, CH.Bhabha and
Shanmukham Chettw.

{2} Dr. BE. Ambedkar, Radhakant Mookerjee, John Mathai, CTH.Bhabha and
Shanmukham Chetty.

(3 Dr BR. Ambedkar, C. Rajgopalacharn, Shyama Prasad Mookerjee, John Mathai
and Shanmuikham Chetty.

{4) Dr. BR Ambedkar, Sardar Patel, Shyama Prasad Mookerjee, John Mathai and
Shanmukham Chetty.

Bt mma"r A/ SPACE FOR ROUGH WORK
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60, R ST TEER G S AT W SR e W, e S e ?

(a) @ w0 e v wileas e EE ER

() 7 =er R S dems B

(c) el mETE wEiarEE Fiae 2 fTen

'ﬂ'ﬂfﬁ W

1 (@) (2) (b} (3) o) (4) T O
What is not true of Khan Abdul Ghaffar Khan who was also called Badshah Khan ?
a)  He was the Pashtun leader from the North West Frontier Provinoe.

(b} He founded Khudai Ehidmatgars.

{c)  He criticised the congress on the partition of India.

Answer ophions :

{1 fa) (2) (b (&) ] {4) MNone of the above

.

62,

et wive geT el g gm e

{1y ferire =es (2) ferrefim

(3) Wi {4) =iE uwdl ARt

Which one of the fnllu-'l.-\-'ing is not a feature of the E[ariah:fl landscape ?
{11 Eskers (2] Drumlin

(3} Roche Montane (4] Mone of the above

WIEE 2H fAaETR S g g ?

{a} T, AEA T A ST AT 5 A T A o
by 7T s ST S 25 ke v T 3 s 2,

q’ﬂiﬁﬁi’:
(1) =z (a) drn it (7)== (b) 9 o
(3} 7 {a) W@ A (b) (4) @ () T (b) T

Which one of the following rwo statements is correct ¥

{a}  Wind is a moving air which has a speed more than 5 knots,

(b)  The minimum speed required to generate wind encrgy is 25 kms/hr,
Answer options :

{1}  Only {a) is correct {2} Only (b) is correct

(31 Neither {a) nor (B) is correct {4) Both (a) and (b} are correct

el HEEE A0/ SPACE FOR ROUGH WORK
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b3,

hd.

an A

YT AT AT TR S e _
(1) @r@e T F6 R (2} @ TEE et
(3) WA U A (4} HEEW WG "R
With increasing depth, temperature in the interior of the eartl

{1}  Decreases at an increasing rate (2]  [nereses at an increasing rate

{3}  Increases at a comstant rate {#) Increases at a reduced yate

femmerars wfiid aishi T W A 0 o

(1) e fguey IS Wik WA o A (ofrEn a g ) d e e weind
THa® M,

(2)  wAT BUEE IES W S DAY 3 W W TWE s e 0,

(3)  Fefwan sfwierg wewa swmE femmren, S 9 vy 8 TE) M (an) SwiE S
E G s i )

{4y e g awEn (@) i d,
The curved shape of Fimalayas to the South 15 due to

(17 Maximum push offered at bwo ends of the Indian Peninsula during its northward
drift.

{2}  Maximum push offered at centre of the Indian Peninsula during its northward drift,
(3 Maxirmuwm push offered at two ends of Himalaya during Eurasian Socuthward drift,

{4y Tethvs sea was curved in shape to the South.

TR R wig-al faquadr w9 TET vE 5 e e wd ]
(1) @ (2) "W (3) fedm (1) =

In which of the following months, low pressure belt over the equator swings by 5 degrees
tao the north ?

(1} June . (2] September {3} December {4y March

Feedl HIETHED A/ SPACE FOR ROUGH WORK
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b6, HERI gavlaudl ot afed e airgEE @ e e
() WEAE HEw foiw sty g5 S0
(b) seEfm s 3 s sdai dufms oo e e e amd EeE E oge e
T 3.
{¢) W EEHETR 75% FER USATER O B SEIE 25% TR Seihd TNTh S I
e el W wvE! B
writert e o fav far aET s s ?

(1) W fa) (2) 5 (a) A (o)

(3) W (b) W (c) (@) fa}, &) Ff (c)

‘Maharashtra Golden Jubilee MNagri Dalil Vasti Water Supply and Sanitation Scheme’
(MGINDVWS),

{aj has been launched wnder Maharashira Sujal Nirmal Abhiyan,

(bt} To provide domestic water connection and individual toilet to the families of 5C and
May Budha.

() Under this scheme 73% grant is provided by the state government while remaining
25% contribution comes from beneficiary or Urban Tocal Body (ULE).

Which one of the statements given above is/are correct ?

(1) Only @) (2) Only (a) and (b)

{3y Only (b} and [c} 4 (&L (b)and (&)

67, 2001 ¥ ONATE FACHTAN FEaT ared] WATEEE 200 1 @,
(a) eI A W
(b} T A
() T F Y
(dy A A
it ot
(0 (@) (o) fe d} 2y (b)) (d) &) (3} fe) (d) (@) (B) (4)  da)e (b (d) ()

Arrange the incidence of migration streams (of India) in descending order as per 2001
CEnEuS,

(a}) Rural fo Hural

(b} Rural to Urban

(¢} Urban to Urban

(dy Urban to Rural

Answer options :

1) fa) @) feh () 2 (B () (@) (@) 3) (o) (dhfa). (B) (4 (a) (B ). ()

Tl FEEE! @00 [ SPACE FOR ROUGH WORK
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68. iy =R Hada Afywn (andw) | avd 2011 9 fEEEn AEEETer TERrgEte arEsE
wE oW =EE AR
{1} 139 - 170 (2) 159 -179 (3) 1606 - 180 4) 179-1%
As per the status report released in March, 2011 by the "National Tiger Conservation

Authority” the population of tigers in the Maharashtra state 15 estimated between
-— o

() 139 - 170 (2) 159-179 (3 169 - 180 (4 179 - 190

6y, wichwlEt s v faepeem awm e 7
{a) Eom wEw
by T A W
() Tl TEETE WaEmH
(d) S A
it I
1y @, (b (o 20 bk (). () (3} (@) ) (d) 4 (a) ) (d)
In which of the following regions the dispersal settlements are found 7
{a} Mountainous regions
{b}  Fertile niver basin
{c) Low ramnfall region
(4} Konkan coast
Answer options :

(1) (a). ib) (<) 2y (b)) (d) (3 (@ e id) (4)  (a) (b) (d)

FHeedl FEEE A/ SPACE FOR ROUGH WORK
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(a) EHIEI
{(b) ‘m
{cy 2

(d) g

L pei o e

{a)
mm
2y
(3 (iv)
# ()

Match the pairs

{a) Hammada

{b)  Reg
ic) Frg

(dy Badlands

(b
(ii)
fiii)
{if)
fiii)

]
{idd)
(i)
{iii]
{i)

Answer options :

{a)
m
2y
(3) (i)
(4) (i)

{b)
(i
(i)
(i)
i)

()
(i
(i}
(i)
(i)

(i)

(i}
(i}
{iv)

(d)
(iv)
W)
{i}

(i)

(i}

(i)
(i)
(v

(d)
(iv)
(iv)
(1)

(i}

33

WEFID g2

EME AEE

H@UTL g7

Rocky desert
Sandy desert
Stony desert

Gully erosion

HO4
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71. WEE §H EHETH e T a7

{a} HEFRE TR WA FEETE T 9gd o

(b} TATEIET FETHE TEETET AN 2 A Se T T,

ﬂ'ﬂi‘iﬂaﬁ:
(1) FaE@ (a) oL I {2y e (b T R
(3) 7 (a) =W 7 (b) (4 fa)7 (b) D

Which one of the following two statements is earrect 7

{a} Indiais approximately a quarter of China in size.

(B)  There is a time lag of approximately bwo hours from Gujrat to-Arunachal Pradesh,
Answer options :

(11 Only {a} is correct {2} Only (b) is correct

{3 Neither (a) nor (b) is correct {4) Both {a) and (b} are correct

72.  HA 1942 ek 3 falm wE w  =e wm (Ee Y ) S A S ww
{a) SIHHA F2 T TRAEE F2 W,
(b) o sy gt fom wfdm R A
{c) FUER ST oy e Fane S T
(d) Wt Searel AmEvil HvEE T o T2

iy I
(1) (a). {b) *0FT {c) @) (o) = (d)
{3y (b}, (c) snfm (d) (4)  (a}, (b). (c} 3EM (d)

“The Quit India’ movement organized in 1942 aganst the British was a failure because
(2}  Britishers divided the movement by cunning methods,

{b)  Muslim league did not support this movement.

{ch  The unarmed Indians could not stand against the armed Britishers.

{d) The leaders failed to organize a country - wide movement.

Answer options :

(1 ), (b) and (c] (2) (¢} and (d)

(3 (B (<) and (d) (4) (), (b} (c) and (d)

el RIS AT [/ SPACE FOR ROUGH WORK
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73, sdE 99 faE, Ees FoE s e, e ¢

{a) AT A TS TITR U ¢ MRS TR = UETIE A

HO4

(b e Tamid foedem ffen Mt ferve waR afen 2l sfirrn vw o e

e T,
T 3
(1) F2 (a) (2) %A (b
(3) A@adD) (4) =R (2)3 (b)

Which one of the following two stalements is/are incorrect 7

(a)  Chhatrapati Shivaji International Airport Mumbat is the counbry’s second busiest

airport.

by The abowve said aivport along with Delhi, Indira Gandhi International Awrport handles

one thivd of the air traffic in South Asia,
Answer nptions :

(1) Only (a) (2) Cmby (o)
(3] Meither (a) nor (b} (4) Both {a) and (b)

74. Tt dsiTHE Tt we ToE 9 o v (17 Gt Seide)
(a) i i} 280
by FElesi (i) 8.1
fc) s (i) 47.0
(dy = {iv) 111
je)  hivwEm, FisaH, TEATE T geieEn v 9.5
T 36

(a) ®) () (D (e
1y Gy (i () (iv) (i)
2) i 6 6 (v ()
(3 W o () (i)
(4) Gy @) @ (v ()

Major contents and their proportions in the composition of the Eanh's erust (up te 17 km

depth)

fa)  Owvgen (i)

b} Silicon (i)
(€)  Aluminium (idi}
(d)  Irom {iv)
fe)  Calcium, Sodium, Potassium and Magnesium (v}

Answer options :

) b) fe) (d) (e)
1)y G fv) (v) (i)
() i) @ (W) (v) (iv)
(33 i) ) {iv) i)
#) G @ @) (v ()

28.0
2.1
47.0
111
0.3

Foel FIHTETE AW/ SPACE FOR ROUGH WORK
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75, wled A
Fesarmon
fa) e {0
o) whv=Egns {ii)
{c) {iii)
(d] TR (iv)
(e) T T ()
0 waw (vi)
Taigt 391 ;
fa} (b} (e} (d) {e) ({f)
(i (i (e {v) (i) (vi)
2y ) Aw) fw) Q) (v (vi)
(3 6 (W) (i) (i) i) (v)
{8 G Gk (v (vho (i) ()
Match the pairs :
Mace
(a)  Kalsubai i)
(b} Harishchandra gad {ii)
{c}  Torma {ii)
{d)  Mahabaleshwar {iv)
{e)  Kumbharli ghat {v)
() Phonda ghat {wil
Answer oplions :
() b} () (e )
M 0 @) w GE (w)
e T 1 T T T 11 I A T
3 6 6V ) G @)
@O0 G o i G

Eciced]
1646

1438

1050

1424

00

1404

Height {in m.)
1646

1438

1050

1424

O

1404

Tl HINTETE WO/ SPACE FOR ROUGH WORK
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37 HO4

g =
(a) wi=n FaraaEEte da (i) T=owm vdai+t
(h) T R it (i) e} ware v A Fififd

() s IR TR
ATl TGRS HewA A PR

{iii) TEn daaTEE et b

(d)

At =T

o]
(2
{3)
(4)

Match the pairs

(a)

(a)
(ivh
(iv)
(i)
(i)

[iu near west coast (i}

(b)
(i)
(i}
(i)
{ii)

]
(i)
(iii)
{ii)
(iii)

{iv) = R TR SO Fee am

idj
1}
(i}
(1]
{iv)

Peaks of submerged Islands

Formed [rom coral accumulation

(b} Shrhariketa along the east coast (1)
(¢} Lakshadweep in Arabian Sea

(d}

(iii}
(iv)

Formed due to sand deposition

The Andaman and Micobar
in Bay of B-engai

IPart that has separated from main land

Answer options :

()
(2)
(3)
(4)

(a)
(iv)
(iv]
(i}
i)

ib)
i)
{ii}
(i)
it}

ic)
(it
(iii)
(i)
(iif}

{d)
i}
{i)
fiv)
fiv)

ET.O.
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77, wfrsien gaui w7 Taan, gres | afemre favda o
(1) T, T 3 TR
7y Wi, T A e
(3 e, B A v
(4] FETTEE WEY, e 9 IO
Mame the states that are oppoesite to Bihar, [harkhand and Orissa in mineral content.
{1] Gujarat, Rajasthan and Maharashira
(2)  Karnataka, Kerala and Tamil Madu
{31 Utlar Pradesh, Harvana and Punjab
{4 Arunachal Pradesh, Nagaland and Manipur

T8, 15 SR 1047 TE TRT HETTE AT 9V T8 SRl WA AETEE 2 e,
(1) T RETEE -
(2) Ve - g
(3) ST AT A
(4) TR BT
Before 15 Augu:—:t 1927 all smali state princes except the following 5i.EJ‘L¢d on the bond of
Joint India.
(1} Junagad - Hyderabad - Kashenir
{2} Hyderabad - Bhopal - Zanshi
{3} Bhopal - Junagad - Badoda
{4} Kashmir - Hyderabad - Bhopal
TO,  WHE TEEY TG 0 T A
{a) T Orawrd i SR g A v et e e e, sl v 29 1E ee

SRAV FEE A |
{b) TR N FD U T4 MG ST A Al A
atEt 39 ;
(1) = (a) (2) e ()
(3 a7 (b (4) = (a) T (b)

Whal is not true of the Indian Kainfall 7

(a)  Late arrival of mensoons has now become a normal feature. The year in whach it
starls late it mostly retreats early,

(b} There s no month of the year in which rain does not fall in some or the other part of

India.
Answer options :
1) Omly (a) () Only (b)

(3 Meither (2) nor {b) (4} Both (a) and (b}

e WIEAEL T/ SPACE FOR ROUGH WORK
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80, IU9UT AR R FHENEe T

(1) T (2) wimw/ifew (3) e (4) st
Exfoliation is which of the following types of weathering ?
{1} Chemical (2 Physical (3 Buological 4)  Oaidation

81. T 1919 w0 HiwE wEE TR
{a)  FrarE fan et writ S Ao #E,
by 3T =) faswmorEt wedt 9% v 2R,
() THITETE S HIEEEA AEw S SmHE g
{d) TR AT HE A s,

OIS wIE FAME AT A
f1} (bl () 3afm (dy (3 (b) Ffm (dy
(3 (a), (o) T ) {4)  (a), {b), {c) 0% (d)

As per the Rowlatt Act, of 1919
(a)  Any one could be hung without inguiry.

(b} British could search any place,
) They could arvest any person on suspicion,
{d) The criminal could not appeal.
Which of the statements given above are corvect 7
{17 (b ichand {d) {20 (B) and (d)
(3 (ah (b} and (c} (4 ) (B (e} and (4}
B2, TEE 30 T WS e /TR O (TR s HEm vee wiie ammn e e
T S SR A dH,

(1) SO (2y e

(3} emiEEETE (4  AHEERTR

When organic materials with C/N rabio of more than 30 are added to the soil then there
willbe _ of nitrogen during the initial stages of decomposition,

{1} Immobilization {2y Mineralization

(3 Ammonification (4}  Nitrification

FHeed] HATHTE WM/ SPACE FOR ROUGH WORK
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40 A

Fagray e Ao v 19 T A,

(a) i@ PR T W a2

by FE EEE TR T AR,

(€ ¥ 42 T g1 SEEEl

(dy R N S T S S

LRI

(T (3 (b) (3 @3 @) @3 @ ®a
[ all theve are 19 lands in Micobar group of islands,

Which of the following statements about them are incomrect ?
(2] Great Nicobar is the largest island.

b Car Nicobar is the northern most.

e} Harren lsland 15 an extinet volcano.

(il Morcondam lsiand s a dormant volcano

(3

Answer options :
1) {a)and (b {2} (c) and (d) (3} (a) and () (4) (b} and (d]

(1) WUEAE - A VAT U ST 8 e Tvard) R e qwie v,
(b  #uAE - e [eam TERTEEE T frfmd=n wEe T aue v
(€} W - AEdAen TEEE wEEus wodren aasd agiEeddr i,

(d) TR AT - ST WO RARTRA TR g e Wl i .
T 3T

(1) {a) #fi (b) i (@) {8 (b) T (c) TR

(3) (o), (e) #F (d) i @) (o). (b), () T () T

Consider the tollewing statements ©

[a}  Shore - zone of land between highest high tide water and the lowest low tide water.
i) O shore - Represents the zone of shallow bottom of the continental slope.
¢y Fore shore - Extends from lowest low tide water to mean high tide water,
{1y Back shore - zone starling from mean high tide water to sea cliff base,
Answer aptions ;

i1 {a) and (by are correcl {2)  (a). (b) and (c) are correct

{3)  (bd, [c) and 4} are correct 4y (a) (b} (c} and {d) are cornect



A

B5.

B p— e e e e e

&b,

11 HO4

Ty T fisgat =0 T sl e /e R S S i e
{1y |rE, =, e, AR | TisET

{2y WA, dm, e, T 9 afeeEn

(3) W, =, A, AR S T

(4) WA, =, e, Hemiear 8 e

The apex of the north Indian triangle is the meeting place of five countries of Asia
namely

{17 India, China, Tajikistan, Afghanistan and Pakistan
{2} India, Mepal, Bhutan, China and Tajikistan

{3)  India, China, Afghanistan, Bhotan and Mepal

(1) India, China, Bhutan, Afghanistan and Tajikistan

o P GeTE] Ui W JE 9 S
{a) TR A A

(b i syfer

{c} 9 SmEvEr F et
{dy  mEarEt T
a7

(1) @&@e) () @@ 3 @A @) (@)
Uniformity coefficient in sprinkler irrigation system is affected by
fa) sprinkler spacing

(b)  crop geometry

(e} time of operation

{d)  wird condition

Answer options :

{1} ta} and (bj (2} (a) and {c) {3) {a)and (d) (4)  dch and (d)

—_— e — =53 e e ey

ool WD AT/ SPACE FOR ROUGH WORK
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9.

42 A
mwmmmmwmﬁm;mﬁmmmﬁﬁmawﬁiqﬁwm
R N O - R (1 S )

(1) 1a% 30fm 32% (2] 12.3% s 13.3%

{3 2900 anfin 6371 4y 5.5 W0 1000

The density of the core is more than twice the density of the mantle but the volume and
mass of the core are and _ _ of the tolal velume and mass of the
earth respectively.

(1) 16% and 32% {2y 123% and 13.3%

ﬁi 20K and 6371 {lﬂ 5.5 and 10000

wfdta ¥a qaon 2 9 fma faummed e ae.
fa) wae  Aide Frsgrgd e sREes e T
(b) T TR W TR e i

it For e a7
(1) o (a) SET 9 (2} HE@ (b) T AT
{3) 7 (a) & A (b) (4) () F () Fi

Afanla range at ils eastern extremes is divided inle two spurs

{a}  The souihern one passing theowgh Parbhani and Nanded districts is cailed the Satmal
range,

(b} The northern passing through Yavatmal district @5 called a5 Nirmal range.

Which one ol the above slalements is correct 7

(1} Oniy (a) 15 correct {2)  Only (b} is correct

{31 Meither {a) nor (b} is correct i4) Both (a)} and {b} are correct

TERTEED tEm ETE AAEl . s dmuwE, . s ewdifiea
% A seiiga Frenae A,

(1} 5 11. 84 ) 1L 5 M (3 84,11, 5 (4) 85 5 10,

tv of total forest area in Maharashtra ___ % is under reserved forests,

% is under protected forests and _ _ % is under unclassified forests,

(1} 5 11, 84 {2) 11,5 84 {3 84,1.5 {4) 85,5 10

el FIAEEN A [/ SPASE FOR ROUGH WORK
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90, 2001 =0 FETHETET EARSTE S99 (REHYT Fioe s (% S

() T W (i) 1593
by wfEw (iiy 28.33
fe) A {iii) 5.90
(d) weTEm fivi 1161
(&) SygEm vy 807
RE e

(al b} e} (d} (e}
{10 TR ) R B T {0 TR 14
@ G0 @)
(3 f) o fvdo () vy
() G i i) @) (V)
According to 2001 census, migration of people from the other states to Maharashira

{in %).

(a) Uttar Pradesh (i 1593
k)  Karnataka i) 2833
c]  Cujrat (iiiy  5.90

{d) Madbya Pradesh fiv) 1181
e} Andhra Pradesh v B.0F

Answer oplions :

(@l (b) G} Ad) (o)
1 6 W 6 @) (G
LI VI I ¢ I I (1
(3] @ i) (v ) (iv)
) W i) (V) ) ()

91. Wz FE A et It e aw?

{1y 60,000 % 80,000 9, (2) 16,000 7 29,000 FF.o,
3 350007 65,000 fE.4h {4) 10,000 # 30,000 f= 5.
What is the height of the atmosphere above the sea level 7

i1} &0,000 to 80,000 km {2) 16,000 to 29,000 km
(3) 35,000 to 65,000 km (4) 10,000 to 30,000 km

THeedl HIAWHEN A0 / SPACE FOR ROUGH WORK
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92, 1991 MFEAT THR WEATH UHY FeEtaAdawn 94 @ 87 gl feeme s emm
W A Fesil 0 S,
{1} =T, TR, ey § s
(2) T, Hiengy, e |9 qwE
(3) I, e, TeeE e i
(4) s, W, i a aane

As per 1991 stakistical information the highest hectarage under total fruit orchards of the
Maharashtra state ts in the Sindhudurg district followed by which of the following
districts 7

(1} lalgaon, Hatmagin, Solapur and Amravati
(2} Ratnagiri, Sclapur, Amravati and Jalgaon
{3} Selapur, Amravati, Jalgaon and Ratnagiri
(4} Amravati, Solapur, Ratnagin and Jalgaon

93. 2011 ¥ FAMI{uI HERTLEE yele s sme sl wdd anea wad, o, ey, gi. gig
wafd =t yrede e faed e 7

(1) Ty, s, e (2) e, fovgd, faiet
(3 T, e, T {4y Teged, afm, =

The following districts of Maharashira state are the most erbanisied according to 2001
census, Mumbai, Thane, Magpur. Pune, However, which are the least urbanised
districts ?

(1) Parbhani, Beed, Hingeli (2) Gadehiroli, Sindhudurg, Hingoli
{3) Gadchiroli, Nandurbar, Parbhani (4)  Sindhuduorg, Washim, Beed

94, JEEIEHTT GO AR W A Ao U Hieel aiedl 1 Riesar Ees i

T AR
1} 30 (2} 40 {3} 50 4 60

Due to Global Warming a one metre rise in the sea-level would Aood over —
percent of Kolkata.

(1) 30 (7} 40 (@) 50 4) 60

o] HIUERE T/ SPACE FOR ROUGH WORK



